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CBT Sample assessment model answers

Credit Management (CDMT)

Sample assessment 1

Task 1 (18 marks)
[image: image2.png](a) Drag and drop the correct words into the following statement. (4 marks)

Terms specifically stated in a contract are known as express terms, which are binding for both
parties. Terms that are fundamentalto a contract are known as conditions Ifthey are broken, the pary breaking
them will be in breach of contract and can be sued for ‘damages

guarantees ‘warranties,

termination optional





Task 1 (continued)
[image: image3.png](b) What s the amount of interest that Holst may charge Gustav under the Late Payment of Commercial
Debts (nterest) Act? Calculate your answer to the nearest penny. (2 marks)

¢ [62877

(c) Identify whether the following statements about the Data Protection Act are true or faise. (4 marks)

Companies are able to find out what information is held about them on
‘computer-based records.

Individuals have a rightto objectto decisions taken where there is no human
involvement.

Individuals cannot request that data relating to them willnot be used
for direct marketing purposes.

'Data cannot be keptfor more than six montns.






Task 1 (continued)
[image: image4.png]Sanjay orders 500 sweaters from an online fashion supplier. The sweaters are described as 100% wool
When the sweaters arfive, Sanjay checks the labels and sees thatthe material is described as 50% wool,
50% man-made fibres.

(d) The contract between Sanjay and the fashion supplier s voidable due to: (2 marks)

Unfair Contract

Fraud

Misrepresentation

Consumer Credit

(e) Identify whether the following statements about consideration in contract law are true or false. (6 marks)
Considraton s o b nth om fgoods ormoney. =
Consideatoncanbe i th o fsgreing o perorm an ustngpusic o [Faee il

Considraton can b apromis to dosometingnthe . s

End of Task





Task 2  (24 marks)
[image: image5.png](a) Complete the table below by calculating the key indicators (to two decimal places) for 20X5 and 20X4
for Bathrooms Ltd, and rate the company using the credit rating scoring system.

‘Operating profit margin % 489 0 148 5
Interest cover 242 0 120 20
Current ratio 120 10 120 10
Gearing % 5179 0 3762 10
Total credit rating 10 35




[image: image6.png](b) Based on the results of your credit rating and using the table above, recommend whether the.
requested credit limit should be given to Bathrooms Ltd. (2 marks)

[Requestlatest management accounts and defer decision

Bathrooms Lig





Task 3  (30 marks)
[image: image7.png]() Write notes to brief a new member of the credit control team explaining three sources of external
information you will use (other than financial statements) when assessing whether to grant credit to a
new customer. Comment on the role of the sales director in the credit assessment process. (@ marks)

[There are a wide variety of sources which can be used when assessing the granting of credt, both <
internal and external. We will usually tryto use a combination of sources in order to ry to getthe fullest
picture of whether a new customer is an acceptable credit isk.

[External sources of information include bank references, rade references, creditrating agencies, credit
circles, and industryfrade publications. Bank references must be interpreted carefully, as banks have a
duty of confidentiality. Their first regard is to their own customer and references are therefore usually
[worded infairy standard ways — and we must ty to interpret the “real” meaning behind this. Banks will
[oniy give an opinion on the overall soundness of the customer and will not be able totell us how quickly
they might pay their debts.

[Trade references are responses from other companies who have dealt with the prospective customer
[and may be able to tell us something aboutthe payment profile. However, tis important to bear in mind
tnat the customer themselves has nominated these references and may have selected only those who
might reply favouraby

Credit ratingreference agencies are organisations who maintain atabases of information about
inaividuals and businesses. The amount of information can be detailed (e.g. payment history, bankruptcy
proceedings, court judgements tc) but can be out of date.

Credit Circles are groups of businesses in the same type of industry who have customers in common
with each other and who meet on a regular basis. The sharing of information (often on an informal basis)
can give useful and timely information on any possible problems with customers.

[Trade publications and the media can sometimes be useful when considering the type of business a
potential customeris in, and can help to see what overall rade views are on specific businesses,
although itis important to check the facts behind any opinions provided in articles.





Task 3  (continued)
[image: image8.png]The sales director should have minimal input when assessing whether to grant credit Whilst she may be.
[nowledgeable aboutthe industy, her role is to increase sales and undertake marketing actviies and
[she may not be knowledgeable aboutthe process of credit control and the importance of liquidity and
credit management.

in any event,the sales director's role is primarily sales driven, and she may be influenced by the fact that
she receives a bonus based onthe amount of new business.





[image: image9.png](b) Write a note analysing the information and recommending whether credit should be granted.

[Proftabilty

[The tumover has decreased by a small amount (3.5%).

[There is no real explanation for this — perhaps just a small downturn in the market, which can be
monitored.

The gross profithas fallen by a similar amount (3.1%) and £190,000 in absolute terms.

The operating profit margin has fallen by 25% or £770,000 in absolute terms.

This fallin profitability may be because Berlin has changed ts method of acquiring non-current assets
[and it may initially be more expensive to deal with the operating leases

[This may be a concemn in the future ifthe admin and distribution expenses have a large fixed element.
Interest cover appears to be healthy and has improved, butthis is due to the reduction in finance lease
[costs not due to an increase in operating profit The business is less reliant on finance leases butis
relying on operating leases.

Liquidity

[The current ratio is higher than the previous year meaning liquidity appears to have improved.

[The receivables collection period has decreased by nearly 2 days and is around an average of 30 days,
which is a standard term of rade for many companes.

This gives some assurance that Berlin is managing its debt collection as well as in prior years.

nventory also appears to be being managed adequately s the amount has fallen both in absolute terms.
[and in inventory holding days.

4 similar comment may be made aboutirade payables, so it seems that working capital is being
managed relatively eficientl.

(22 marks)




Task 3  (continued)
[image: image10.png]Gearing and risk:
The gearing has decreased from 77.75% to 47 27%, which would seem to give great comfort

[The avsolute tevel of borrowing has reduced substantially from £12.7 million to £4.325 million. This is a
g00d sign.

[However, the commitments under operating leases need to be considered as this s similar to debt.
The annual operating lease commitments are almost £12 million which must be considered as
financing.

[The operating leases are non-cancellable, which means that the risk attachedto this is quite high,
particularly ifthe equipmentis not hired out on a regular basis.

1 this were included as borrowing in the balance sheet, the gearing would be deemed to be extremely
ign

Conclusion
In general the performance indicators seem acceptable. Although there has been a decline in profitabilty,
the business is still making a profit and manages its working capital well. The main issue is assessing
e impactof the operating leases, and whether this is sustainable if Berlin faces a allin equipment hire:
or other sales.

This might require an understanding of future forecasts for the indusiry, butitwould certainly be.
[appropriate to ask Berlin about future cash flow projections.

4 decision on granting credit should therefore be deferred unti afer suitable discussions with Berlin and
the provision offurther upto date managementinformation.

i creditis to be granted, further comfort in the way of retention of tile clauses, creditinsurance or
irectors' guarantees might be considered.

End of Task





Task 4  (20 marks)
[image: image11.png]Complete the email to the chief credit controller, calculating and commenting on key ratios, and conclude by
recommending whether or not credit should be extended. All calculations should be given to to two decimal

places.

Email

To:  Credt Controller Date:

From:  AAT Technician

Today

Please find below my calculations, observations and recommendation for new customer Thyme Ltd.

Subject: New Customer Thyme Lid

9% in 20X

Proftabilty
Tumover has increased by [47.13% Ji| - Gross profit margin in 20X4 was [36.49_| % and [2886
Operating profttself has increased by [33.65% JRl|. however the operating profit margin in 20%5 was

possible [overrading JEA] vhich need o be investigated furtner.

Interest can be covered [over 6 times A in ootn vears.

1348 | % as compared

to [1223_] % in20X4. This means that [expenses have been well controlles __JRl] although there might be some signs of





Task 4 (continued)

[image: image12.png]Liquidity
Boih the current ratio and the quick (acid test) atio have [deteriorated _JRl]- In order to understand th liquidy position furiher

itis importantto review the trade cycles and the indvidual components making up the ratios.

Inventory has increased by [101.39 | %. When compared to the increase in tumover this might indicate that Thyme s planning

further increases in sales. The inventory holding period has increased from [50.02 | days in 20X4 1o [76.45 | days in 205.

‘This means that [funds are tied up in inventory %]
The trade receivables collection period has [worsened by over 20 days JRl]- Trade receivables have increased by [90.91% [

s mignt mean tat [Ty s aeing e gonrous o o svcowage saes il

The payables payment period is [significanty more than ] our standard terms of rade.
The company has no cash in 20X5 and s more relianton [shortterm borrowing [l

Recommendation

recommen ot [ ease et v





Task 5  (22 marks)
[image: image13.png]() Match each type of claim on the left to the appropriate type of court procedure on the right by clicking
on the left box first then on the corresponding right box. You can remove aline by clicking on it. (6 marks)

Claim Court procedure

Magistrates Court under the Fast Track

Under£10,000 ‘County Court under the Fast Track

High Court under the Small Claims Track

£10,000 - £25,000 County Court under the Small Claims Track





Task 5 (continued)
[image: image14.png](b) Which of the following statements are true if a retention of fitle claim is to be successfully enforced?

S

The goods subjectto the clause must be inthe customer's warshouse.

‘There must be a rentention of ttle clause shown on every invoice sent to the
customer.

(4 marks)





Task 5 (continued)
[image: image15.png](c) Complete the following sentences. (4 marks)

ABC s offering [a recourse factoring facity. ¥}

vz can borrow: £ [1750000

(d) Which of the following are stages in a company winding up procedure? (2 marks)

() Statutory demand
i) Petition o the Court

i) Bankruptcy order

() Appointment of Administrator

(0, i) and (i

() and @)

Al of the above.






Task 5 (continued)
[image: image16.png](e) Drag and drop the correct words into the following statement. (4 marks)
An aged receivables analysis is a management tool that can be usedto highlight customers who are || slow o pay
Itanalyses the balance due flom each customer according tothe ate of each invoice outstanding.
Analysis of trade receivables can also be undertaken based on focusing attention on 20% of customer

accounts which make up

‘amount

ofthe total value of outstanding debs.

‘abad creditrisk

100%





Task 5 (continued)
[image: image17.png]Christopher owes Jayne £7,500 for goods supplied.

() Whatis the normal remedy for Jayne as a resuit of non payment of the debt? (2 marks)

Action for breach

Action for price

Specific injunction

Action for restitution





Task 6  (16 marks)
[image: image18.png]'DEF Ltd wishes to claim VAT bad debt relief on some unpaid customer invoices.
(a) Identify whether each statement below is true or false. (4 marks)

In order for DEF Ltd to be able to successfully reclaim VAT on an unpaid debt.

L
rF

EF Ltd musthave lfeady accounted orthe VAT and pald tover o HIRC, free
e daim must e made witin three years of e due date of paymentofthe dect. |[Fatse [l
EF Lta musthave made a powsionfor e unpaia debt. Fee B
e debt musthave remained unpaid or s months aer he due date fpayment. | [Fie

Meerkat Ltd wishes to offer a 2% discount o its customers for setfiement of invoices within 21 days.
Meerkats standard terms of trade are 45 days.

(b) Calculate the following to two decimal places: (4 marks)

‘The simple annual cost of the discount  [31.08 | %

‘The compound annual cost of the discount [35.97 | %





Task 6 (continued)
[image: image19.png](€) Which ONE of the following s an important aspect of liquidity management? (2 marks)

Having enough assets to meetall obligations on a timely basis.

Being able to pay all suppliers and other operational costs as they fal due.

Being profitable enough to settle amounts dus when they become payable.

Rescheduling loan repayments to ensure they are non-current liabilfies.

Jontys customers currently pay 30 days after the month end. He is introducing a 19% discount from month 2 it
customers seftle the invoice in the same month. Itis expected that 80% of customers will take advantage of
this. The expected sales revenue per month is as follows:

Sales revenue

Hontn 1 295,000

Month 2 £105,000

Montn 3 £136,000
(d) Expected cash receipts in month 3 will be: (2 marks)
e [r2e712





[image: image20.png](&) Which ONE of the following is NOT a type of credit insurance? (2 marks)

Key account

Catastrophe

Unlimited excess

Whole turmover

‘Tom has received a letter ffom the liquidator of Jerry Ltd. The liquidator has indicated that all unsecured
creditors of Jerry il receive a dividend of 2.5p in the pound (£) ater in the year. Tom is owed £7,500 by Jerry.

() Calculate the amount that Tom should write off as an irrecoverable debt. Ignore VAT. Show your
answer to the nearest penny. (2 marks)

= [r31250

End of Task





Task 7  (20 marks)
[image: image21.png](a) Review the information provided for each customer below and prepare comments and an action plan
for dealing with the outstanding amounts due to Softfruit. Your action plan should include a summary
of the options available to Softfruit to pursue outstanding amounts, along with recommendations for
‘provisions or wite off of irrecoverable debts where appropriate.

FOP.

FDP is a regular customer of Softfuit and always pays to terms. FDP is responsible for 1% of Softuits
annual tumover. FOP had ordered 12 custom-buit computers for use in a new software development project.
The order had specified that al 12 computers were to be delivered by 16 Apriln time for the projectto begin
Softuit delivered six computers on 15 April However, due to the extended llness of their computer engineer
Softuit could only deliver the remaining Six computers on 25 Apil

The total value of the invoice to FDP dated 25 Aprilis £72,000 including VAT. FDP has complained about the
Iate delivery, stating that this has significantly delayed their important project. They are withnolding payment
and asking for compensation

[Care needs to be taken here as FDP seems to be a customer who places regular orders and provides.
Softruit with a substantial part of heir sales - a tactiul approach is therefore required. The terms of the sale
contract need to be reviewed carefully, as well as delivery documentation, as FDP are possioly in breach of
contract fthe delivery date was part of the agreed terms.

[Even though part of the order was delivered on time, the remainder was 10 days late. If Softuit were
determined o be in breach of contract, they would be liable for damages. The amount of damages would be.
determined based on what FDP might have incurred by way of costs or lost revenue as a result of the delay.

[t would therefore be preferable to meet with FDP and negoiate some kind of discount for the problems and
inconvenience caused. This would avoid any legal costs, maintain customer goodwill and hopefuly bring
[about payment of the outstanding amount less any discount. As FDP has always otherwise paid to terms,
there is no reason to make any provision ortake other action to collectthe debt atthis point




Task 7 (continued)
[image: image22.png]Gigabits.
Softuit has received nofification that Gigabits s in receivership. The amount of the outstanding debtis
£28,620 including VAT. The receiver has told Softrut that she will not accept any retention of ttle claim as the.

go0ds in question are generic computer components that Gigabits has purchased from a number of
suppliers. ltwil therefore not be possible to identity which had been supplied by Sofruit.

The accountis credit insured for a maximum of 75% of the net debt or £15,000, whichever is the lower.

[ receiver wil often attempt to reject ROT claims in the firstinstance therefore Softruit should check what
[sort of goods they have recently supplisd o Gigabits. Ifthe goods are small components then the receiver
Imay be correctthat tis not possible to identity which have been supplied by Softuit, partcularly ifthey had
ot been kept separate by Gigabits. However, it may be possible to identify Softfruit's components. Therefore.
it costeffective to pay a isitto Gigabit's premises, Softuit should send a representative immediately
with all relevant documentation.

Softuit has an “all monies” retention of title clause. This means thatit would not be necessary to match any
[ 00ds unpai forto specific outstanding invoices. ffthe ROT clause turs outto be unenforceable, Sofruit
will be an unsecured creditor of Gigabits, which means it uniikely that Soffuit wil receive much, f any, of
the outstanding amount.

A ciaim should be made on the credit insurance for the amount of £15,000. (Net debt is £28,620/1
£23,850. Maximum claim is lower of £15,000 or 75% x £23,850 = £17 887 50). A provision should be made.
for the balance of £8,850. VAT of £4,770 can be reclaimed from HHRC after six months and after the debt
[has been written of.





Task 7 (continued)

[image: image23.png]Netintra

Netintra has an outstanding invoice for £15,000, including VAT. The invoice is dated 1 March. Netinira has
often been slow to pay in the past, and has now given several excuses to delay payment, ranging from being.
unable to trace any of the original documentation to the authorised cheque signatory being away. Softuit has
supplied Netintra with copies of all relevant documentation and, in accordance with the credit control policy, is
now aboutto instruct a debt collection agency or commence legal action

The HR director has asked you to refrain from sending the deb collectors or instructing solicitors because
the Managing Director of Netinira is president of the local tennis club. She wishes to oin this club, and she is
concemed that any unpleasant tension will afect her application

[Netinira seem to have used a variety of excuses and delaying tactics, while Soffruit has done s bestto.
prove the amount owed. The debt is now substantially overdue (payment was due by 31 March, tis now 30
[June, sothe debtis 90 days old) with no apparent reasan, even though Netintra are normally slow payers.

A crecit control policy is in place to ensure that Softuit does not suffer any unnecessary liquidity problems or
unnecessary bad debts. Because there is no business reason for not pursuing the debt in accordance with
the credit control policy, Softuit should proceed to instruct a debt collection agency or commence legal
action.

Causing “unpleasantness” is not a suficient reason for Softfuit notto protect ts business position. The HR.
irector's personal situation should have no bearing on Softfuit's business decisions and she should not
use her position as a director to influence how a policy should be applied for her own personal gain




(b) Megachips

	
	May
	June

	
	£
	£

	Opening balance
	65,000
	37,600

	Invoice
	26,400
	16,920

	Credit note
	(3,840)
	(2,100)

	Interest charge
	250
	0

	Closing balance
	37,600
	(2,100)

	Payments received
	50,210
	54,520


Indicators





This model answer uses the appropriate negative figures to indicate negative operating profit margin percentages, and zeros to indicate negative interest cover figures. This reflects industry preference.





However, for the purposes of this assessment, students may enter zero or the appropriate negative figure for both negative operating profit margins and negative interest cover.
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